Vagueness and communication

Barry O’Neill, UCLA, Game Fest ‘09
 The importance of vagueness

What vagueness is not
Prestige of nuclear weapons depends on a clear line

Games of communications with vagueness or clear lines
Taboos, clear lines and slippery slopes

Vagueness in threats & assertions
“I will say it straight, that if you find it impossible to act jointly with us in this matter we should be faced with the necessity urgently to consider the question of taking appropriate steps unilaterally.“  

                         Brezhnev to Nixon during 1973 war 
“Such an action would produce incalculable consequences which would be in the interest of neither of our countries . . .“                          

                         Nixon (really Kissinger) back to Brezhnev

Iran has a “nuclear program.”
The United States does not engage in “torture.”
                        Vagueness in promises & apologies
“Each of the Parties to the Treaty undertakes to pursue negotiations in good faith on effective measures relating to cessation of the nuclear arms race at an early date  . . . 

                                  - Nuclear Non-proliferation Treaty
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“ I acted in a youthful & inappropriate way . . .  For this, I am sorry.  I promise my fans and the public – it will not happen again.”    
                - Mike Phelps on Facebook  
                                     [my emphasis]
Clear lines and focal points
Joint expectations that a military advance will stop at a river or at the use of nuclear weapons.     – Schelling
Clear lines, bright lines and the law
In illegally replacing a worker by someone “younger” 

– “younger”  means ≥ five years.     (Knight v. Avon 2003)
To illegally “advocate” a candidate, the ad must use certain words, “vote for,” etc.           (FEC v. CAN 1997)
Designing laws to avoid slippery slopes.
“Vague” is not the opposite of “specific”
Specific :                    “The temperature is 99o F.” 
Non-specific but  non-vague :

                                   “The temperature is over 90 F.”
Non-specific and vague : 

                                   “It’s hot.”

Crawford & Sobel’s cheaptalk equilibria aren’t vague
Vagueness doesn’t mean a grey area



“Higher order vagueness”
~!!W   “It’s not definitely definitely windy.”

           W is vague because of the red region.

          !W is vague because of the yellow region. 
Vagueness is not about the concepts themselves, it’s tied to communication.

A vague communication can’t convey precise knowledge.
    Clear lines, nuclear prestige and the nuclear taboo
“He aspired to the prestige associated with the advanced arts and sciences.  In his view the most advanced and potent were nuclear science and technology.  By all accounts and by the evidence of the massive effort expended by the Regime, nuclear weapons were seen by Saddam as both a powerful lever and symbol of prestige.”

CIA Duelfer Report, 2004, interviews with Saddam.

Thomas Schelling, 2005:
“The most spectacular event of the past half century is one that did not occur.  We have enjoyed sixty years without nuclear weapons exploded in anger.  What a stunning achievement – or, if not achievement, what stunning good fortune.”
What about nuclear weapons makes them carriers of prestige, but makes using them taboo?
(1) prestige: degree of destructiveness
taboo:     mode of destructiveness  
(2) prestige: their technical sophistication  
taboo:     their misuse of science 
(3) both: there’s a clear line between a nuclear and
               Chemical explosion 
 PRESTIGE-BEARING TRAITS TEND TO
-- be for desired qualities,
-- be publicly visible, 
-- symbolize influence 
-- have clear boundaries
FOR INDIVIDUALS, PRESTIGE IS
-- being in a select club with a display, a professional     title 
-- winning a prize for achievement, w/ public honor 
-- driving a certain car, living in a neighborhood

-- finishing a marathon
FOR COUNTRIES, PRESTIGE IS
-- having a large bombard, an aircraft carrier, a nuclear sub 
-- having colonies, jet airliners, supersonic airliners 

-- being first in time: “conquering” Mt. Everest, launching a satellite, landing on the moon

-- being first in some other ranking: winning most Olympic medals, having tallest building, fastest train, largest collider. 
A party’s reputation with a group for a certain quality is 
       the average of members’ estimates of 
       the quality. 
A party’s prestige with a group for a certain quality is
 the average of members’ estimates of 
 each others’ estimates of the quality.
(assuming the quality is desired, and the second-order estimate gives the party influence with the group.)
Games with vagueness
Observers indexed x ε [0, 1]
Subjects indexed y ε [0, 1] U 2  
Subjects’ qualities, Qy, are ~ N(μ, 1), iid.
Observers are ignorant about μ but know σ = 1.

Observers first calibrate their language, 

then hear about Q2, 

then estimate Q2 and each others’ estimates of it.
Stage 1 (calibration): Observer x learns Qx of subject x.
Stage 2 (communication): Observer 1 learns Q2 and
EITHER publicly announces BAD or GOOD, according as 
Q2 <   or   ≥ Q1  (Vague communication.)
OR publicly announces BAD or GOOD according as

 Q2 <  or ≥ a commonly understood reference level 0. 
                         (Clear-line communication.)
Stage 3 (estimation): Observers estimate Q2 and each others’ estimates of it.





	
	x’s est 

of Q2
	x’s est of 

est’s of Q2
	2’s reputation

/prestige

	After x observes 

 .50


	.50
	.50
	0/0

	After 1 sends vague communication

	1.06
	1.06
	.56/.56

	After 1 sends clear-line communication 


	1.20
	1.76
	1.29/TBA


Why does prestige increase with a clear line?  

Each observer is less certain about others’ estimates of Q2 than about Q2 itself.  Common knowledge that Q2 > 0 eliminates a more of the negative tail.
Non-metaphorically, what’s a mental space?
Psychological proximity is a broadly used concept.  
Given an ordinal proximity ranking (w, x) (y, z) on pairs of stimuli, Beals, Krantz and Tversky (1968) axiomatize its representation by proximity in a Euclidean space.

. . . and what’s a clear line in it?

A line divides mental proximity space - you can’t go from one part to the other in arbitrarily small steps - really a gap.
A clear line is a line that can be used as a commonly understood focal point in communication.

cf. Crawford and Haller 1990: coordination without a “common language” – with common knowledge of the abstract game, but no shared notion of “player 1,” “top left,” etc.
	1,1


	0,0
	0,0

	0,0


	1,1
	0,0

	0,0
	0,0
	1,1




DEFINITION: A behavior is socially taboo in a group if 
(1) it violates a strong social norm,
(3) compliance comes significantly from one’s shame and one’s identity as a member,
(4) the members see no clear relation of the norm to their interests,
(5) violation is relatively unthinkable.
     SOME TABOOS

Eating certain things; violating gender roles; engaging in certain sexual activities, or certain bodily functions or nudity in public; discussing certain subjects.  
Note the clear lines, as opposed to “don’t brag”, et al.

So without the clear line there’d be slippery slopes.

QUESTION

Why does the slope slope in this direction and not that?
How to reinforce the nuclear taboo, reduce nuclear prestige
--  avoid frames that promote nuclear slippery slopes, e.g., conceptual categories grouping nuclear and non-nuclear weapons, peaceful nuclear explosion programs, nuclear threats in response to non-nuclear provocations
-- bolster the prestige of nations’ social achievements by adding clear lines (development/democracy indices, legitimately judged contests with public prizes)
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Before observing: x’s pdf for µ
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x’s pdf for another’s est of µ and est of Q2


 





After observing Qx = q: �x’s pdf for µ and Q2 








then the vague communication: 


“Q2  is GOOD.” (i.e., > Q1)
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x’s pdf for Q2











then the clear-line communication 


“Q2 is GOOD”  (i.e., > 0)
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“neither windy or not windy”





“not windy”
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